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— 779 NOW 9397 TR K9 ON)
And if one cannot come close, how did it happen

Overview

The X723 cited a mawn which stated that one must distance his mustard plants (271)
from the beehive (2™1127)." However *01 ' permits leaving the 771 in its place,
since the 2777 ¥2 can say to the 011277 %¥3, ‘instead of me distancing myself
from the 0°127, you should distance your 21127 from my 2777, since they eat up
X717 °21937”. The X3 asked according to X271 that one is not permitted to be 7210
(even if the item to be damaged is not there yet), how is it possible that the 277
and 0127 were in close proximity, since it is 7107 108?21

= NPNN D27 HYA TH0Y 199107 99V NN TAND 9INT AND NHPHWA PNYY 199249 KIRLY
The >''1 explained; granted, according to 28, who maintains that one may be
Tme, the M1wn is properly understood, for we are discussing a case where the

beekeeper was 7% first (his bees were near the property line where later his neighbor

planted mustard) -
- *Nnby 9195 Y190y P M) DINATT PHYT XPYD NP NNYNYT 22 HY 9N)

So even though that now (in this X"17) we assume that all agree that the bees

also damage the %791, so why can the beekeeper allow his bees to remain when the other is

planting mustard” -
e nh-) N PONNT 579N Y2 13NT %W PPN HYT 1339 *920 01PN Yon

Nevertheless the 13131 maintain that the second damager, meaning the 5777 H¥a
is required to distance himself the entire amount of distancing that is required -

' See *"w1 on the 777 NXY 71"7 X Ty that the bees eat the sharp mustard and it makes them consume their honey
causing a loss to the beekeeper.
2 Seemingly the ‘real’ question is that if it is 710% 70K then (even) if the 2°11277 Hv2 was m0 first, but since it was
T10°K2, why are we obligating the 27717 2v2 to do the complete distancing; the 0°11277 9¥2 is also guilty.
? The need for this 'w®' is that seemingly even according to *ax the npY2m» between 1327 > is not understood. For
1"nn, if the 9707 ¥2 was 0 first 1n°3, why do the 0%2n require the 2707 %¥2 to distance himself, and if the Hva
0°712777 was 210 first 903, why does " maintain that the 7717 92 does not need to be P mn; he was 710°%2 0!
* It is only later in the X m) that X1°21 states that according to the 7127 the bees are not p i the 977m. However now
where the Xn>12 states that the 777177 992 complains to the 2°11277 %¥2 that X771 "21232 *298 and the 1337 did not
respond to that, it would seem that all agree that the 0°1127 are >1» the 777m. See footnote # 25.
> Presumably Mmoo means they should both distance themselves equally, since they are both 0°p>ma. At this point
(when saying this 3"¥X), 2010 thinks that this case may not similar to the case of two n1M12 where the second P> is
required to make the entire 7pn7, for we can argue (perhaps) that 2127 979 is different from M2 *w (see shortly
in this 190N, that this indeed is the ¥720 of "0 17).
® The n"a;7 M7 amends this to read M3 PR 9o 1Ry nX (instead of 12 PRNAR 90 NX).
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- SN0 MWW Y3 PININ WA AN HY 'PYNIN TR0 ONT N2 %33 195
Just as by a pit that if one was 720 by the boundary, the second one who
wishes to dig a M2 is required to distance the entire six 2’12, This explains how

we can understand the 7127 according to »ax. Now m0n will explain *01° "7 according to X -
= INND ROV NP DU 790 P 029277 115 920 YD) )

And >''1 maintains that since the bees damage the mustard and he acted

somewhat improperly -
- 75490 Y919 909 PNY NTY 8NN YY TR0V

For he was 7210 at the boundary where his neighbor will eventually plant 5721

later, so -
- VY NN KIY NP 01PN Y919 TIN0 XYY 1wnh 9199 19X 171aV 29 Yy 9N

Even though legally the future 777177 %¥2 cannot prevent the 0°1277 Hva from
being 920 (for we are now following the view of »ax), nevertheless the %ya

071277 acted somewhat improperly, therefore -
- Y209 9195 57190 Yya Con

The ®79177 ®¥2 can also be 720 -
= PYNI DY 1992 DY 0993 23WN PO NIYIND NOD 29997 DIVN ONNT 92D T XD

And this case here is not similar to a 992 (where the second p°1» [which here
would be the 27717 9va] needs to move the entire distance), for there the second
71277 9v2 is loosening the ground (by his digging) so that the second 1217 Hva is

directly damaging with his hands the wall of the first 912 -
- XY XD AN NPNINN Y2 PININY 2w by 1aY

Therefore (since there is direct damage from the °1w) the second 27 v is
required to move the entire distance, but here where the %7717 %2 is not

damaging the bees directly,'” the 97917 2¥2 is not required to move. This is how we can
understand the views of the "1 7127 according to 2.

In summation; according to *>aX the npY7n» between 13127 °" is where the 0°1277 Y2 was 7210
first (and everyone agrees that the 21127 and the 2771 damage each other). The dispute hinges on

7 According to *»ax by a MMab 7MWY ArKY 77w, one may certainly be 7m0, and according to one version he may be
7m0 (according to **aK) even by a MY TWYR 37V,
8 See ('am) *»ax 71"7 2,1 'ow. We do not require the first one to fill up his 712 and distance his (new) 712 three o°noY
from the boundary. Rather he remains in place and the second M2 (which is also a P> [to the first 712]) must
distance the entire six o°’nov. The applies to the 2°11277 7¥3; since he was 7012 7m0, the 2717 Y¥2 must move the
entire distance.
? We are somehow assuming that the 2112777 %2 was aware that his neighbor may be planning on planting 7.
10 The w"w" amends this to read o3 (instead of o).
' He can tell the 2112771 %¥2; you can distance from me if you so choose, however I am not moving from here.
2 He is merely causing him damage indirectly (x»73), since the bees eat the mustard and consume the honey.

2

TosfosInEnglish.com



X177 '01n 2,7 2"a .70

whether this case is similar to two N2 where the second 712 needs to make the entire 7P (the
view of the 1127) or that this is not similar to M2, where the second 712 is 2°7°2 5% (therefore he
makes the entire 7n777) however here the 27717 %¥2 is not 2°7°2 P71 [and the 211277 Sva acted"
W12 ROW], therefore the 2777 Yv2 need not move any more than the 2>M1277 %92 (the view of ™
).

mooIn goes on to explain why according to X217 there is a difficulty:
= 19299 APNINN DI PINTS DTINN HYAT N NNIWM 35N TPNID RY 9NINRT N9 NON

However according to X237, who maintains 7% X%, how is it possible that

according to the 3121 the 77177 »a has to move the entire distance -
- 595 PN XY DY 299

And according to ' the 777177 Yva does not distance at all -
= APNIND I8N PININD NN THN DI DY STTAN 2P 1191907 )09

For since that both of them are damaging each other, each one should be

required to move half the distance -
= D910 P75 XYW DININ OPYOY D W NHNN 09127 J¥a 71D 199N

And even if the 29712777 »2 was 720 first, he should remove his bees since he
was 7210 illegally (according to X27). This is the explanation of the s'83 question on X231

In summation; the question on X211 is that since we are assuming now that the 21127 and %77
damage each other, and neither had permission to be 7m10; the rule should be that both should be
P11 (each one) a half, so why do the 13127 maintain that only the 97717 should be p>ran, and °"9
maintains neither are required to be Pr1?!

mooINn continues with the explanation of the answer of X959 17:
- D972 PRYN NPIYNY INTY 58N 99199 S0 ¥a1w ¥nmba xoo 29 9N

Npp 29 answered we are discussing a buyer, meaning that the owner of the field
planted mustard and afterwards he sold half his field (which did not have any

mustard plants) and the buyer set up bees in his part of the field -
- YY NN PININY PN I STINY ¥ KY 03913171 PHr0NTa 1339 99209

And the 3329 maintain (now in this answer of ") as the X713 will conclude (later
according to X1°27) that the bees do not damage the mustard, so therefore it is

incumbent that the damager (the 5771777 v2) should distance himself from the bees -
= 95913 70V 29 Yy 9N

B If not for this X120 that the o277 “¥2 acted 13 XPW N¥p (so even though it is still not similar to N2 "),
nevertheless the 2771 would need to be p°nn, since the 2> 11277 H¥2 acted 73 n°n3, so why should he be pornn.
'* According to the 0"2"1 in the X577 7"7 X, '01n it seemingly should have said 7572, w">y.
15 See footnote # 34.
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Even though he was permitted initially to be 9219 (since then it was all his field) —

Mmoo anticipates a difficulty:
= NIP2 N7 290N 95702 1990V 19N 22)T 22 Yy 9N

Even though that by the tree (and the 712) when he was 7210 the tree legally

(before there was a 712), the 71w states that it is not chopped off, so why here is the
97717 9v2 required to move his plants (he was 2072 7m10)?!

mooIn replies:
= 12999 1097 NN 17129 DY MY MYV 19N D91 2N

When were these words said (that if it was 2n°72 the rule is 7I2° X?) by a tree,

which is planted to remain for many years and there is a great loss if we chop

down the tree -
= XD D790 PV NYYN YaN

However regarding a soaking pit, leeks or mustard, this rule does not apply, since
there is not that much difficulty in removing them and there is no great loss, therefore we say
that since he is the (only) P, the 9777 %v2 is required to move —

mooIn proves that 17X is different from other cases:
= 990N NYIN TR0 2) DY N D197 1M XY TP 92N DN JIIN 3 “w‘mx ) Y21

For this is also what we say regarding a tree that ‘if the ™12 preceded the tree
(and he planted the tree within twenty-five nnR of the 712) the rule is that the 5¥2
7127 may chop down the tree and pay the tree owner the value of the tree, even

though the 17°x71 5v2 was 7210 the tree illegally (since there was a M2 within twenty-five
Nk of the tree) -
= 099 NNY AN 1PN 90N D210 D927 INVI

However by other cases where he was 9210 illegally it does not seem that the

neighbor (the potential p11) is required to pay money for the removal of the p>a. Why

is there this difference -
- 171\’)\0!‘\ 112991 199197 NHIYL NHN

Rather the reason for this distinction is that the 1127 were concerned for a large

loss (by a tree), but not for a minor loss. This concludes the view of the 1127 (according to X9 27) -
= APNINN DI PININY BT Ha P98 DTIND »PMI 091297 92D YD) ra9)

However >''1 maintains that the bees harm the mustard plant, so the beekeeper

162,75 mwn.
' Therefore just as regarding the payment of money for the removal of a 1 it is only required by a tree but not for
other o’ 1n, the same applies for the requirement to remove the 1 that we are lenient only by a tree, but not by
other 0°p°11 (such as 777m), and they need to be removed even though they were 20172 0.
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must move away the entire distance -
- 1905 XYY 959 HUY XY 9190 HyaT s

Since the %717 %va did not do anything improper; only the o277 Yva acted
improperly by placing his bees near the 9771 where they would damage the 7771 —

In summation; the answer of "1 is that initially the whole field belonged to the 977n7 9¥2 and
then he sold part of his field (which did not have 7717) to the person that later placed 01127
there. The 73127 maintain that since the 2127 do not damage the 277 (so there is no need for him
to distance himself), it is incumbent upon the 97717 9¥2 to distance (even though he planted
an°n2), since there is no great loss nor much bother to distance the 2771. However *"1 maintains
that the 0127 damage the 9771 (and the 2771 was planted 23 1n°13), therefore the 0127 need to
make the entire .‘ipi‘ﬁ.‘i.w

MdOIN reacts to an anticipated difficulty:*
= HPIVAY NINN 09927 HY2 THOYWI MNIPIND S¥a XY ) 2yan DIUM

And because of this reason we can also understand why the X713 did not want to
establish the case of 2771 where the beekeeper was 7210 first and another person
bought part of his field and planted 7771 there —

mooIn first explains what advantage there would be in this case:
- Zampna AUYY 39 5Y 4N PININY PO1EA 5Y 193997 UMY PINTY P98 13D KDY

For it would not have necessary to cumbersomely explain that according to

the j129, the ?1% is required to distance himself even if he did it permissibly -
- 24921 199N 923 19NRW AN

Which will be different from the case of a tree and a pit -

An additional advantage in establishing the 2>12777 Y¥2 as the initial owner:

'8 When he planted the 2777 the entire field was his and he could plant wherever he pleases. This is a much greater
an°7 than according to »aX that one may be 7110 to his neighbor’s field, for here the entire field is his; there is no
issue of 1210 at all. See ‘Thinking it over’ # 1.
' The npyomn then is simply whether the 21127 are p>m the 2771 or not, there seems to be no other issue here.
1t is evident (from the s'x73 question 11277 v"» 1192 °X) that the 9777 %¥2 owned the original field and he sold it
to the (ultimate) 0>11277 ¥3, the question MO is anticipating is why did not the X3 establish the case, where the
0°71277 92 was the original owner and sold part of the field to the (ultimate) 77m: 5¥2?
! This is referring to Moo explanation (of *") that the 279m71 92 is not required to distance himself, since AWy XY
172 X2w 793; he did not act improperly at all (see footnote # 18).
2 The way 5" is explaining it that the field belonged initially to the >7m71 9v3, it is difficult to understand why the
57777 Pva (who planted the 2n°172 977n) is required to distance himself from the 0127 which came later; why is this
different from 7121 17X (see footnote # 23).
# By M1 7%, if the 19°X was first, he is not required to distance himself; why is it different by o7 7r. The
answer which no0n gave that by 7121 12°K there is a 7217 70917 is considered to be (somewhat of) a prm7!
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- 509 29N YD) YTINY YP1 KY 09137 132997 9919 7908 XY N
And it will also not be necessary to say that according to the 3329 the 237127 do

not damage24 the %717 and argue with '3, who maintains that they indeed damage the
5771. The question is why indeed did we not establish that the 027 came first?!

mooin replies:
= NN NIY NYY KDY 99°N2 790 09927 HyaT 11D )5 ONY

For if that would indeed be the case that the 0°212777 5v2 was first, so since the »¥a

2°712777 was n°12 720 and did nothing improper -
- 299309 5991 Hyab Y01 29 NN AN NY

»'"1 would not permit the »72m:77 ®»2a to be 729, since the 211277 ¥a acted properly and
the 277n71 %y did not.

In summation; we cannot say that the case of np1? is where the 21277 %¥2 owned the field first
and then sold it to the (eventual) 977177 %¥2 for (even though we would gain in our understanding
of the 1321)*’ the position of >"7 would be not acceptable.

nooIn asks:
- Bnm1h XY 17099 9993 9NN ON)

And if you will say, let us establish their argument without a buyer and the “va

5711 was 210 first (as in the case with a np1?) -
= APNINN 93 PININD 9PONY H190 Yya To98 YTINY 1P XY DINATT 192991

So according to the 3121 that the bees do not damage the mustard, the >ya
®7anm is required to remove the 5771 and to distance the 5771 the entire

distance, so as not to damage the 21277 H¥2; he needs to do so
- Pnvnn 70Y 29 Yy 9N

Even if he was 9219 first, since his 712n0 was not 9012 -

** I the 01127 (which came later) are > the 71 (which was planted mwn3), the 1327 would certainly agree with
"9 (see footnote # 19). Therefore the 13127 must maintain that the 0°127 are not P> the H77n. However if the o127
would be the initial owner (and they were there nw12) so even if the 01127 are P the 2771, it would be understood
why the 577r77 %92 has to distance (and not the 2>11277 H¥2), since the 0°7127 were there N2 and the 9717 Y¥2 (who
is P12 the ©°1127) came later MW 2 XHW.
» It is generally accepted that we try to avoid a np1>rn in a fact (whether the bees are or are not p>m the 977m); it is
either one way or the other. If we would establish that the 01127 came first, this difficulty would be avoided.
26 Therefore even though it would be advantageous, in order to better understand the view of the 1127, if the case was
that the 0> 112777 Y¥2 was first, nevertheless since in that case the position of >3 would be untenable, it was necessary
to justify the view of *" (by saying the 7711 was first) even though there is some difficulty in understanding the
view of the 1121.
*” We would not need to distinguish between 1121 12°X and 2>11271 771 and there would be no np¥?rn in MX¥A.
*® The xn»12 makes no mention of a nP1>, so why complicate the case.
* We are discussing this case according to the view of X2 that it is 7107 110K,
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- %87 RIR NPNINN Y3 PININY H1INN HIAY PN STIANR YD1 11ININT 1153 5095 529
And according to ', since both of them damage each other, the »7n77 Yv2 is

only required to distance himself, half the 7171977, not the entire IPn977. The Yva
0*1277 will distance himself the other half; why the need for a np15?!

N1B0IN answers:
- 11909 59139 INT ¥PYN YTIND PNNT VY Y

And one can say that the expression, *0v "1 ‘permits by »72m°, indicates that >
completely permits the 5771771 9v2 to be 9210 without any 77pni at all —

In summation; the reason we cannot say that the case is without a 2, and the 9771 was 7210
first, therefore according to the 1327 that the 0°M127 are not P> the 9771, the 2771 must be Porn
and according to °"7 that the 0°1127 are also P17, they both need to be 117, is because when the
XN*12 states 97772 7’07 °"', it means he does not distance himself at all.

mooIn explained the question of the X713 and s'9"7 answer. Md0IN explains now the continuation
of the X 3: The X n3 asks:
= 121201 957127 1173 12297 NNIYV YNNI 21 ON

‘If indeed this is so (that we are discussing a 1?1, so the first one [the p°1] was
an°n2 M0 [since it was his field exclusively]), what is the reasoning of the 312%°,

since they were an°72 9101 -
DY) H9% NIV 1PPNINY P98 NnY P Phawn

Why is it necessary to distance the "w» and the leeks when the neighbor
brought later vegetables and onions on his property -

= ©9127 INAWI ¥MPINIS NIY DTN )oY DY
and it is certainly not understood why it is necessary to distance the mustard
(which was planted 7n°72) when the bees came later. The reason why the case of 277n

is more difficult to understand (according to the 7127) than P 77wy, is that -
= N1aYY 29195 H19ND YH M ) DINATT P NYT NPLOY 33".7?)9 on oY o

% Tt will be basically the same np12ma as according to 2", however by 5" (who establishes the npYorn by a np12),
since the 27m7 Y¥2 was totally in his right, therefore >"2 maintains that only the 21277 %v2 (who is P the 977n)
needs to distance, however here where there is no n? and the 77n71 Y¥2 had no right to be 7m0 (just like the %va
0°M277), therefore they will both be pri7n. According to the 1127 there will be no difference.
3! The (only) way to justify that is if the 777 %2 was mwa2 70 and did nothing 993 17 X2w (and that can be
only by a np1?).
32 7wn is water in which flax is being soaked.
33 In the case of PN Awn or 0°H¥ PwI, since it is only the 2°w 121 7wn that damage but not the 2°%%¥ P, it is
somewhat tolerable to assume that the > must distance himself even though he was 1n°m2 7m10. However by %7
0°M27 where they are both >t each other and the 9711 was 2n°2 7m0, it is totally astounding to say that (only) the
5777 2v1 is required to distance himself.
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Since the bees also damage the mustard, for the one who asked this question
assumed™ that all agree (even the 7127) that the bees also damage the mustard —

mooIN continues to explain the s'XM3 next question:
= 7905 2P0 92 ©YNATT DIVN DTN NIN NPT9 NIT YD) %297 RNYL NI Y

‘And additionally, what is the reasoning of >''9’ that he argues with the 712
(who maintain that the 977177 %v2 needs to distance himself) only by »79n, since

the bees damage the Y79m; he should argue with the 7121 -
- 59121 195X 223 939 NPININY TIVYS XY 9NN NIYNN NYIY 113 D99 N9YUN 199N

‘Even by P9 mw»’ (where only the 77wn damages the 27 but not the other way),
for since the 7vw» was done 2073, it should not be necessary to distance it, just

as the ruling is by a tree and a pit (that if the tree was planted 1172 all agree even the 7327
that it is not chopped down, so the same should apply to 7”1 77wn [especially according to >"1]) —

mdoIN continues with explaining the following answer of X1°27
=18y NX PININT P3N HY 1929 9930 RXPY NPIYA DYIYD NI YN

And X129 answered that we are really discussing a buyer, but the 3139

maintain that the »°1% must always distance himself -
- 9510 NINVY PPNINY HTINND YA Yy 391D 9NN NUYY 29 by 9N

Even though he did it =n°72, so therefore the 77177 Y¥2 must distance himself

(even though the he was 7n°72 7110), since he is damaging the 01127, and the 0127
are not damaging the 2771 (as the Xm3 will shortly state explicitly) —

mooIn continues with the explanation of the challenge to &1°27:
= 97905 D210 DN DINATHY NI*AT RNDIN 19¥NIYT 1193 7999)

And the X713 asked, since we can infer from the answer of X:1°29 that the bees

do not damage the mustard; we can infer it -
- 59911 Yy 5y NPNYN 1329 1M a5
For that explains why the J127 required the 7177 %pa to distance himself -
- %Y PXHINY PN Y 920 YO %2941 YYan

** moon taught previously (see footnote # 15) that according to the answer of " the 1321 maintain that the bees do
not damage the mustard (as X1°27 concluded). However "7 did not say so explicitly. Therefore this jwpn assumed
that the 1127 also agree with °01° " that the bees do damage the mustard.
* noown here assumes that this wp» rejects what Mmoo previously said (see footnote # 17) that we can distinguish
between 121 17°R (where there is a 72171 7097) and 7™ 77wn (where there is no 7097 and no great nnnw). See
‘Thinking it over’ # 2.
% If the 0™137 are also P T the 9770 it would be untenable to require the 9717 92 to distance since he was 210
anaa.
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We can therefore infer that ' maintains that the 11 must distance himself;

we infer this since "1 -
- 75153 N9Y 7543 NINY 99 5Y GN 519N N0 SWTN

Permits the %721 to remain even though he is the p°1» and not the pr: -

- 5193 999 N9WN 19%9N )9 ON
Therefore even by p9% 9wn the rule should also be that the pr1 (the P71 9¥3) should
distance himself, not the P> (the 7w %¥2), as it is by 2°127 27771 —

Nv0IN comments:
- 549NY 31 P DINATAVY YWY NOTH NIIIAT $IWPNRY S8 57T PN NI

And the truth is that the X2 could have asked (on X1°27), that in the Xn>=2 it

is explicitly implied that the bees damage the mustard -

- 99190 939935 MYINY 2anD
For it states, and they eat 2791 53193%, so how can X127 maintain that the 2°1127 do not
damage the 9771. The X1 could have asked this -

M amupnY 935 HNNNT OIUN 33 P NIUN 1ART NIWIP DDNY 7YY RN NIN
However the X723 preferred to mention the challenge that even p=% 7 wn
should also not require 7pn77, since the X713 initially asked this question on the
answer of 8",

In summation; X1°27 answers that we discussing a 1% and the bees do not damage the 277, and
even though the %717 Hv2 was In°n2 7210 he must distance himself, for the 1327 maintain that the
P 1 must always distance himself. The X713 asked that this implies that according to °"9 the P11
must distance himself (by 2771), so why by " 77wn the p°n 9¥2 (the pri) is not required to
distance? mMoo1n will continue to explain the rest of the X310 in the following maoIn.

Summary
Mmoo explained why the question is not on** »ax (only on &17)," the answer of

7 npoIn is now assuming that this 1wpn maintains that *"3 agrees to the 1327 that the 21127 do not damage the 777
(see footnote # 25).
38 According to this 1wpn the case of @127 9771 is the same a P 7Wwn there is only one p*1n (the 9771 or the 7wn),
but not the 21127, so the same rule that applies by 2°1127 9771 should apply by P 7 wn. Why does "9 agree that
by P71 7wn the 7wni 992 has to move?!
¥ The n"a7 M amends this to read Xn*™2a7 (instead of Xn*™27).
0 See 1937 717 '0In on this Ty for various translations of M.
1 See "2 M that after the X1 77 '0n it should be followed by 9201 1"7 "o and then by %2» 7"7n and these
three NN are really one nvon and it should be followed by 1232 17",
*2 Footnotes 3 -13.
* Between footnotes 13-14.
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5"4,* the questions on 5"1,* the answer of X131 and the question on X302,
Thinking it over

1. mpoIN writes (in explaining >"7 according to ") that since the 27127 are 211 the
%771 and the %771 did nothing wrong therefore only the 211277 H¥1 is required to
distance.” However by P71 77wn (even though the 77wn was In°72 7M0), only the
mwnn Hva distances since the 7 is not p°ma the 7wn. Seemingly if the ST Hva
would not be "n°ma 7m0, the rule would be that they both need to distance
equally,” but since he was 9n°72 7210 he need not distance at all. Why therefore
does the 7w»n make the entire 7171777, since he was 7n°72 7210 (so he and the p7° are
equal), at most they should both make 777 *xn?!

2. moon writes” in explaining the question on X995 27 that *0v " should argue even
by P37 77wn since they were In°n2 103, just as we say by 21 19°K. Seemingly by
7121 12°K there is no Y of the 17°K according to *01° " even if the 72 was there first
and the 17°X was not 7172 201, so why does MDOIN write, N2 TR WYY 11D
121 72782 1D 12!

* Footnotes 14-31.
* Footnotes 32-35.
4 See footnotes 36-38.
7 See footnote # 18.
* See mooIn (between footnote 13-14 who writes, PRI XM P2 TARY TR 93 ¥ *TTAK 2P ™07 11097
* See footnote # 35.
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